g:‘ U-[I-‘ = g:i:| t;ﬂ-’\vg | xlAVg% | U-H-‘

€11 =€, 11~ | InE | I

ye€l)
L =——==€(:
m1|U 6520 G‘Le)
0% g, =0
a—z4z0, ¢— 2620,
GD |U-[|-' = - * - 4
Y= a=a€U ce€W
£ D o %
a—=zaz, 'qg9 =2ca

. b— zbz + 23 zbe — 2Eb 0,

—~

X, +ade—¢tu >< X, =2de—¢tu +aX

.. =AX, +ade—
eeu — eue,

g{|0 bEV
b— zbz + 2zbe — 2Eb Z g, = V/2) + 2be
b— zbz — 2zbe — 2Eb )4 g, = —V2b + 28b
. a — 20z + 23z4e0,
€L =———
a=—-a€U
a— zaz + 2zae, 94 g, = 2a
20e = Ge— éa
@—Z&Z—QZ&GJ)QQ =24

[ - =6l
b’ce—&=DX

—




u=1u€U= lle—éu=0
eétu—cectie=u—1=0=>\=0=a

u=—t€lU =ebu—clie=u— 1 =2u= \= 2

N = 9 = a=1 A=
a=—-1 A=-2

W€V = éu—eclie=u/2=)\=«a/2

\ 5 o =2 A=1
Oé: #
a=-2 \A=-1



